@ iTs Lak. *RBW 10 MHz Marker 1 [T1}
VBW 10 Miz 11.35 dBm
Ref 20 d&Bm *Att 40 dB SWT 2.5 ms 2.412560000 GHz
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Comment A: Peak output power at low channel
ATT=3dB cable losgs=1dB
Date: 9.FEB.2002 14:50:58



@ ITS Lab. *REW 10 MHz Marker 1 [T1]
VBW 10 MH=z 11.35 dBm
Ref 20 dBm *Att 40 dB SWT 2.5 m= _2.437640000 GHz
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Comment A: Peak output power at middle channel”
ATT=3dBE cable loss=1dBE
Date: G.FEB.2002 14:49:17
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VBW 10 MHz

Ref 20 dBm *Art 40 dB SWT 2.5 m=a
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Comment A: Peak output power at hiqh channel.
ATT=3dB cable loss=1dB
Date: S FEB.2002 14352113
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